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Subtract the following: 

  7 6 5  1 6 9  7 1 7 

    - 2 4 5           -  1 3 5      - 6 0 2 

 5 2 0    

 

Answer the following 

a. 7  5  8 – 4  2  7 =         3  3  1  

 

 

b. 7  6  7 – 2  2  4 =  

 

c. 6  8  9 – 3  6  7 = 

 

 

 

Find the missing number 

 

  5 6 2               8 8  

     - 1 4 0                    - 1  9 

  4 2 2     7 3 0  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  8 8 7  7 6 6  5 5 4 

    - 7 7 6           -  6 5 5      - 4 4 4 

     

 

Answer the following 

a. 3  2  2 – 3  2  0 =          

 

 

b. 7  7  7 – 6  4  5 =  

 

c. 6  5 5 – 4  3  2 = 

 

 

 

Find the missing number 

 

   6 5               6  8  

     - 1  1                    - 1 1  

  6 3 4     5 7 8  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  2 3 5  3 5 8  4 1 7 

    - 2 0 5           -  1 2 5      - 4 0 2 

     

 

Answer the following 

a. 8  1  6 – 5  1  4 =          

 

 

b. 7  7  7 – 3 7 6 =  

 

c. 6  6 8 – 1  6  5 = 

 

 

 

Find the missing number 

 

   7                3 8  

     - 4  6                    - 1  4 

  4 2 1      6 4  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  8 5 3  6 5 3  7 5 9 

    - 6 1 2          -  4 4 1      - 1 5 7 

     

 

Answer the following 

a. 8  4  4 – 4  2  2 =          

 

 

b. 8  6  9 – 5  6 8 =  

 

c. 8  7  9 – 3  6  4 = 

 

 

 

Find the missing number 

 

   8 9               4 3  

     - 4                      - 1  5 

  4 5 9     3 1 2  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  9 9 9  8 8 8  7 7 7 

    - 9 8 7           -  6 4 5      - 3 0 2 

     

 

Answer the following 

a. 6  4  2 – 4  2  0 =          

 

 

b. 6  5  1 – 2  2  0 =  

 

c. 6  7  4 – 3  5  3 = 

 

 

 

Find the missing number 

 

   6 9               5 7  

     - 2  1                    -   2 

  7 1 8     5 3 4  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  8 6 4  6 4 2  4 2 0 

    - 5 6 0           -  3 4 0      - 2 1 0 

     

 

Answer the following 

a. 4  5  6 – 1  2  1 =          

 

 

b. 4  6  3 – 3  2  1 =  

 

c. 4  5  4 – 4  4  1 = 

 

 

 

Find the missing number 

 

   8                6  5  

     - 5  7                    - 1 4  

  4 5 1     5 3 2  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  9 0 3  9 1 5  9 7 5 

    - 6 0 0           -  5 1 3      - 1 3 5 

     

 

Answer the following 

a. 1  2  3 – 1  2  2 =          

 

 

b. 1  7  7 – 1  5  4 =  

 

c. 1  8  9 – 1  6  6 = 

 

 

 

Find the missing number 

 

   6 4               7 2  

     - 2                      - 3  5 

  5 1 0     4 2 3  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  7 1 2  7 6 8  8 3 5 

    - 5 1 0           -  7 2 4      - 6 1 3 

     

 

Answer the following 

a. 8  9  0 – 3  8  0 =          

 

 

b. 6  6  8 – 3  5  6 =  

 

c. 4  4 7 – 1  4  1 = 

 

 

 

Find the missing number 

 

   9 6               4 0  

     - 2  1                    - 2  1 

  7 3 5     2 0 8  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  4 4 4  6 6 6  7 7 7 

    - 1 4 2           -  3 4 1      - 3 2 0 

     

 

Answer the following 

a. 4  7 7 – 1  2  7 =          

 

 

b. 4  6  5 – 3  2  4 =  

 

c. 4  7  9 – 2  6  7 = 

 

 

 

Find the missing number 

 

   7 5                4  

     - 6                      - 1  5 

  2 2 2     8 1 2  

  



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

 

Subtract the following: 

  9 0 3  5 4 0  7 0 0 

    - 4 0 0           -  2 4 0      - 4 0 0 

     

 

Answer the following 

a. 7  5  1 – 4  5  1 =          

 

 

b. 5  3  5 – 2  3  4 =  

 

c. 7  1  8 – 1  1  2 = 

 

 

 

Find the missing number 

 

   9 5               5 6  

     - 3  0                    - 1  2 

  3 1 5     4 3 2  


